12400 Earl Jones Way

® Louisville, KY 40299
rev-a-shelf.com
‘ ‘ Customer Service: 800-626-1126
| 4

BLUM VANITY BOTTOM MOUNT TEMPLATE

TOOLS REQUIRED:
8 \/4 ‘ \‘ ‘\ ‘ L\
L] L

r J L 7] DOOR MOUNTING

Refer to (Fig. 1) for the proper door mounting
@ E Q‘ ) Q ] Q ]} measurements.

Once you have the measurements required to
mount the frame to your door correctly, pull out
the frame and attach the brackets to the door
with the provided (6) #6 x 1/2" screws (See Fig. 2).

BOG

INSTALLING THE SLIDE SET 4. Lay your slide assembly in the cabinet, aligning the holes to the
marks from step 3 and attach using the (4) #8 x 3/4" deep thread DO NOT TIGHTEN THE SCREWS ALL THE
1. Measure the cabinet opening and mark the centerline. screws starting with the back holes first. WAY AT THIS TIME.
> NOTE: Pull slides forward for better access to back hole locations. Close the frame and adjust your door to center
. _ to your cabinet opening. Slowly pull the frame
— | out of the cabinet and tighten your door

mounting screws. Pre-drill one of the center
holes on both sides of the door mount brackets
and install another door mounting screw to keep

30 MIN

CARE AND MAINTENANCE: i | ) the door centered.
Clean with a damp cloth and — FIG. 1
wipe parts dry.
2. Measure Opening Height
Measure Door Height
Height Difference
. . . . . Divide Difference by 2
PARTS LIST 2. Align this template with your marked cabinet centerline and
tape in place.
. pein p o FRAME PREPARATION
- Frame/slide assembly NOTE: You may have to fold or cut template to fit it in cabinet.
. . . ) . 1. Measure from frame to top bracket slot
- Hamper basket a. Inset Door — Set this template back in the cabinet the width of 1. Turn frame upside down.
- (6) #6 X1/2:: flat head screws the face frame. 2. Place Blum triggers to the front and side walls of frame, aligning to Measure from frame to bottom bracket slot
(S E drep s el b. Overlay - Place the front edge of the template to the front predrilled holes. —
head screws ] edge of the cabinet. NOTE: The orange cover of trigger faces the inside of the frame. [

- (4) #6 x 1/2" deep thread pan

head scrows 3. Attach triggers to frame using (4) #6 x 1/2" deep thread pan head 3. If your door is larger than the Top Measurement
_ Template SCrews. cabinet opening, add the divided
. . i i i difference you found in step 2 to the Bottom Measurement
3. Use an awl and mallet or a pencil to mark the cabinet floor at 4.Place the frame onto the slide assembly and push back until the unit cifference you 1o e If[;ourdoor ’
the 4 screw locations (denoted by solid dots on the template) locks to slides. NOTE: You will hear a “click” when it locks. smaller, subtract the divided difference
and remove template. 5. Lopsen sCrews on side of door mc?unt brackgts. Remove brackets and from the measurements in step 1.
switch sides so brackets face outside and retighten.
a. For inset door, leave brackets facing inside.
Mark screw locations on your
. door and pre-drill.
— Note:Be careful not to drill
¢ through the cabinet door.
e ‘é : |
)= FIGURE 2
=] N
1) ATTACH BUT DO NOT 0 2 3) PRE-DRILL AND
“ TIGHTEN USING TTACH
= #6 X 1/2" FLAT HEAD A5 o
. SCREWS
. 4) TIGHTEN SCREWS
2) ADJUST DOOR T
TO BE CENTERED
| i IN CABINET
TO FRONT OF EDGE OF Ef *]}
CABINET OPENING OR ] I
FRONT OF FACE FRAME.
IF INSTALLING IN INSET
DOOR APPLICATION, E CI) Q @ E
MOVE TEMPLATE BACK
THE THICKNESS OF THE
DOOR. I ]
T-4WHVCSC-0417
CENTER LINE CENTER LINE




12400 Earl Jones Way

® Louisville, KY 40299
rev-a-shelf.com
‘ ' Customer Service: 800-626-1126
| 4

BLUM VANITY BOTTOM MOUNT TEMPLATE

MONTAJE DE LA PUERTA

HERRAMIENTAS REQUERIDAS:
OUTILS REQUIS:

MONTAGE SUR LA PORTE

i L1 L] - Refiérase a la figura 1 para las medidas apropiadas del
| montaje de la puerta.

E j} Reportez-vous a I'lllustration 1 pour les mesures
appropriées de montage sur la porte.

i o ) O ] ® T

Una vez que tenga las medidas requeridas para el
montaje correcto del marco de la puerta, jale el marco
y sujete los soportes a la puerta con los tornillos que se
proveen del #6 x 1/2" (ver la figura 2).

Quand vous avez les mesures requises pour monter

INSTALANDO EL SET DEL DESLIZANTE 4. Coloque el set del deslizante en el gabinete, alineando el set a le cadre correctement sur votre porte, sortez le cadre

et fixez les supports a la porte avec les vis # 6 x 1/2"

INSTALLATION DE 'ENSEMBLE DE LA COULISSE los orificios marcados del paso 3 y sujete con los tornillos que se fournies (voir llustration 2).

proveen, empezando primero por los orificios posteriores.

1. Mida la apertura del gabinetg y marque la Ifneg central. Posez votre e'nsemble de la cou||s-se dans ['armoire, en allglnant EN ESTE MOMENTO, NO APRIETE LOS TORNILLOS
Mesurez 'ouverture de |'armoire et marquez la ligne centrale. les trous de I'ensemble de la coulisse sur les marques de |'étape COMPLETAMENTE.
3 et attachez avec les vis fournies en commencant d'abord par NE PAS SERRER LES VIS COMPLETEMENT A CE
(> les trous arriere. MOMENT.
//

Cierre el marco y ajuste la puerta al centro de la apertura
del gabinete. Lentamente, jale el marco fuera del gabinete y
apriete los tornillos de montaje de la puerta. Pre taladre uno
de los orificios centrales en ambos lados de los soportes de
montaje de la puerta e instale otro tornillo de montaje de la
puerta para mantener la puerta centrada.

TIEMPO ESTIMADO — NOTA: Jale hacia el frente los deslizantes para un mejor acceso a las ubicaciones de los

(]3] ENSAMBLE’: orificijos posteriores.
TEMPS ESTIME
DE LASSEMBLAGE:

/ S 1 77‘(‘ ¢ \“\ =
) el 6 Fermez le cadre et ajustez votre porte pour la centrer
30 M I N e — dans |'ouverture de votre armoire. Retirez lentement
= /r le cadre de I'armoire et serrez les vis de montage sur
4 la porte. Pré-percez un des trous centraux sur les deux
CUIDADO Y MANTENIMIENTO: 2. Alinee la linea central de la plantilla con la linea central PREPARACION DEL MARCO cotés des supports de montage sur la porte et installez
ENTRETIEN: marcada en el gabinete y encinte en su lugar. PREPARATION DU CADRE une autre vis de montage sur la porte pour garder la
- - ; - . . porte centrée.
_— fhgneg cette ||”gne cen;trale du modéle avec la ligne centrale de 1. Voltee el marco hacia abajo. .
Limpie con un paho humedo y ‘armoire et collez en place. s | o
seque las partes. NOTA: Usted tendra que doblar o cortar la plantilla para que quede en el gabinete. Tournez le cadre. a l'envers. . mleciirl:ZAiqufelz gﬁi::e ri;lu suboort du haut
Nettoyez avec un chiffon REMARQUE: Il se peut que vous deviez plier ou couper le modéle pour l'installer dans 2. Coloque los gat’”OS Blum al frente ya las paredes laterales del PP

marco, alineando los orificios pre taladrados.

NOTA: La cubierta anaranjada del gatillo esta viendo hacia adentro del marco.

Placez les gachettes Blum sur les parois avants et latérales du cadre,
en les alignant sur trous pré-percés.

REMARQUE: le couvercle orange de la gachette fait face a I'intérieur du cadre.

Mida la Altura de la Puerta r Height

humide et essuyez les piéces. I'armoire.
Mesurez la Hauteur de la Porte

a. Recuadro de Puerta — Coloque esta plantilla en la parte
posterior del gabinete al ancho del marco frontal.
a. Porte encastrée - Placez ce modeéle dans |'armoire en retrait

LISTA DE PARTES de I"équivalent de la largeur du cadrage avant. ote | Tos 4] | " Divida la Diferencia entre 2
LISTE DES PIECES b. Plantilla — Coloque la orilla frontal de la plantilla a la orilla 3. Syjete os gatillos al marco con los tornillos que se proveen. Divisez la Différence par 2
Fixez les gachettes au cadre avec les vis fournies.

4. Coloque el marco en el set del deslizante y empuje hacia atrds hasta

Diferencia de la Altura

Différence de Hauteur

] frontal del gabinete.
b. Appliqué - Placez le bord avant du modeéle sur le bord avant

- Ensamble de Deslizante/Marco

- Cadre Assembla e de Ia Coulisse . N { ; . P . Mida desde el marco a la parte superior de la ranura del soporte. ___

C / e de "'armoire. que la unidad cierre con los deslizantes. NOTA: usted escucharé un click cuando Mesurez du cadre 3 la fente du support du haut,
-Canasta cierre. Mida desde el marco a la parte inferior de la ranura del soporte.
-Panier . L. 1 . . 1> Mesurez du cadre a la fente du supportdubas. __
_ (6) tornillos de cabeza plana del 3. Utilice una lezna y un mazo de goma o un lapiz para marcar Placez le cadre sur I'ensemble de la coulisse et poussez jusqu’a ce .

! 1 A 1 1 " P/}
- 4 Vis a téte plate #6 x 12" (indicados por los puntos sdlidos en la plan‘[‘,”a) y quite la quand elle se verrouille. 3Si su puerta es mas larga que la apertura del gabinete, afiada la diferencia dividida que
= (4) tornillos de cabeza plana de plan.“”a ancontro' eg eijpjs?jZ,Ia las rgejidas dell paso 1. Si su puerta es més pequenfa, reste la
3/ . . . . iferencia dividida de las medidas en el paso 1.
rosca prOfunda del#8 x % U I : ” I 5. AﬂOje IOS tOI’nI”OS del IadO de IOS SOPO’TQS de montafe de Ia Puerta- Si votre porte est plus large que I'ouverture de 'armoire, ajoutez la différence divisée
SRBPN lindri " tilisez un pomgon et un maillet ou un Ccrayon pOUF marquer e ) e ‘2 . .
- 4 Vis a téte cylindrique #8 x 3 , , L Remueva los soportes y cambie los lados para que los soportes que vous avez trouvée 4 I'étape 2 aux mesures de I'étape 1. Si votre porte est plus petite,
- Tornillos de profundidad plancher de 'armoire aux 4 emplacements des vis (indiqués par ran viende hacia af | ! soustrayez la différence divisée des mesures de I'étape 1.
" . . N N esten vienao nacia aruera y vuelva a apretar.

Enroscada #6 x 1/2 des points pleins sur le modéle) et enlevez le modéle. ywvt P . . Medida Superior
- Vis a gros filet #6 x 1/2" a. Para recuadros de puerta, deje los soportes viendo hacia adentro. Mesure du Haut
- II\cha:;ltfllla Desgerrez les vis sur le coté des supeofts de montage sur porte. Vedida Inferior
- viodele Retirez les supports et changez les c6tés pour que les supports Mesure duBas

fassent face a |'extérieur et resserrez.
, . . N Marque las ubicaciones de los tornillos a su puerta y pre taladre.
a. Pour la porte encastrée, laissez les supports faisant face a Tenga cuidado de no taladrar a través del gabinete de la puerta.

I'intérieur Marquez les emplacements des vis sur votre porte et pré-percez.
: Veillez a ne pas percer a travers la porte de I'armoire.

BORDE DELANTERO DEL PAPEL

AL FRENTE DEL BORDE DE LA FIGURE 2
ABERTURA DEL GABINETE O DEL
FRENTE DEL MARCO DE LA CARA. o 2 3) PRE TALADRE Y SUJETE
SI SE INSTALA EN LA APLICACION N 9 PRE-PERCEZ ET FIXEZ
e e 1) SUJETE PERO NO APRIETE )ﬁ‘
PLANTILLA ATRAS DEL ESPESOR DE EIXEZ MAIS NE PAS SER
e ] m COMPLETEMENT 4) APRIETE LOS
BORD AVANT DE PAPIER VERS LE i L J H a. ? TORNILLOS
SERREZ LES VIS
FRONT DE BORD D'OUVERTURE DE E j 2) AJUSTE LA PUERTA
CABINET OU D’AVANT DE CADRE i g PARA QUE ESTE
DE VISAGE. CENTRADA
EN CAS D'INSTALLATION DANS (I) Q (I) HORIZONTALMENTE
'APPLICATION DE LA PORTE EN EL GABINETE

INSETEE, DEPLACER LE MODELE ,
RETOURNER LEPAISSEUR DE LA REGLEZ LA PORTE
PORTE. [[ ]} POUR QU'ELLE
i i SOIT CENTREE
HORIZONTALEMENT
— DANS L'ARMOIRE

T-4WHVCSC-0417

LIGNE CENTRALE/LINEA CENTRAL LIGNE CENTRALE/LINEA CENTRAL




